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Rezgeések, hullamok
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Rezgések Fourier-felbontasa:
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Amplitude
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Sound intensity (dBgpy )
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Figure 7 Harmonic Flute spectrum



A lebeges jelensege: 345 s
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Egymasra meroleges rezgések osszetétele — Lissajou gorbék
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Csatolt rezgés meg egyszer

Hullamterjedés X
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Hullamterjedés
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Stretched

y(,t) = f(x = vt)
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Szinusz(os) hullam
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Szuperpozicio

Linearitas!!!




Hullamok visszaverodeése, reflexioja:

Nyitott vég




Alléhullam

y1(x,t) = Acos(kx — wt) Vo(X,t) = Acos(kx + wt)
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Alléhullam:

Typical Dhageam of a Stand mg Wawe
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e ] S—— Alap és felharmoénikusok
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Mindkeét veg nyitott

=2-f;

>"<




Zart vég Nyilt vég Egyik vég nyitott
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Doppler effektus 1.

Forras mozog, a megfigyeld all

vV
Compressed Stretched
sound wave sound wave

Direction of car

The Doppler effect:
Agthe police car approaches the sound waves are compressed and the pitch rises.
Az it recedes the sound waves are stretched and the pitch decreases.




Doppler effektus 2.

Forras all, a megfigyel® mozog
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Huygens elv 1.
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Huygens elv 2. reflexio

Reflected ray
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An antenna can only receive radio Putting a curved surface beneath the

waves that hit it directly. antenna allows radio waves hitting near
the antenna to be reflected to the
antenna.

This is the reason for this characteristic shape for items
that receive radio waves or other transmissions from
Paﬂ|CIes waves space. This particular radio receiver is pointed at a
Figure 1 certain part of the sky so it can receive transmissions
from a particular sattelite.



Huygens elv 3.
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Interferencia
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Kioltas: AS = Sp—% = (2n -|-]_)§

Ergsités: AS = Sp —§ = nA Ap=02n+Drx
Ap=n(2r) n=1223...



Chladny abrak

DX (

voww.letracdec 1as.com.br

Blib

11HE Hz Bz bIAHE FISHE

118HE 133H: 15 iHE 4IEHE 433H:

gitar




Polarizacio (hullam)
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